WEST BENGAL SHINE TEACHERS' OF EDUCATION
TALENT SEARCH EXAMINATION -2024

CLASS -1II

Every CORRECT answer will add one mark
Every WRONG answer will deduct one mark

Time : 1 hr 30 minutes

Choose the article:

1. Tagore is a poet and novelist.
a)a b)the c)an d) No article

umbrella.
b)the c)an d) No article

Choose the correct conjunction:

a) which b) that c)as d)like
Choose the correct words:

4. The student’s handwriting was
a) eligible b) illegible c) indelible d) credible

5. Let you and go there.
a) he b) me o)l d) they
Choose the antonyms for the given words.

6. Rough

a) Heavy b) Convenient

c) Smooth d)Automatic

7. Huge

a) light b) easy c) small d) foul
Fill in the blanks with the correct Noun.

8. Every
particular sound.

a) Alphabet b) Word c) Syllable d) Letter

of a language expresses a

9. I shall shift all my household to my new
flat.

a) Effect b) Duties c) Effects d) Chores

10. The prisoner was released on
behaviour.

for good

a) bail b) parole c)grounds d)guarantee

Fill in the blanks with the correct pronouns.

Full marks : 80

11. It is she who got the prize, not .
a)me b)l c)them d)us

12. Whose book is it, yoursor ___ ?
a)me b)mine c)my d) myself

13. The habitat of a lion is called

a) hutch b)drey c)den d)pen

14. The sound of an elephant is called
a) blow b)low c)trumpet d)roar
15. The young one of a tiger is called ....
a) kid b)calf c)kid d)foal

Choose correct prepositions

16. He is home.

a)in b)at c)to d)into

17. You are quick

a)in b)to c) of d)at

18. He deals Japanese silk.

a)for b)at c)by d)in

Collective nouns

a) herd b) cluster c)faggot d)none of these
20. of corns
a) light b) basket c)stack d) pack

21.Repeated addition is called

(a) Multiplication  (b) Subtraction
(c) Addition (d) Division
22.1kg=

(a)1000g (b) 1.0g

23. Tick the even number
(a) 2 (b) 5 ()7 (d)o

(c) 10g(d) 100g




24.An octopus has 8 legs. How many legs
altogether do 5 octopuses have?

(a) 40 (b) 25 (c) 30 (d) 60
25.Continue the growing pattern given below.
la,2b,3¢c,4d,5¢e,6f,

(@) 7g(b) 7h (c) 6h (d) 68
26.A pot can hold 10 pebbles, then such 4
pots hold pebbles.

(a) 5 Pebbles (b) 40 Pebbles

(c) 4 Pebbles (d) 24 pebbles

27.Cost of a pencil is Rs.3, and then cost of 5
pencils will be Rs.____.

(a) 2 (b) 15 (c) 22 (d) 60

28.There are 4 fans. Each fan has 3 blades.
What is the total number of blades in all?
(a) 12 (b) 15 (c) 22 (d) 18
29.Ramu drinks 4 glasses of water everyday
.How many glasses of water does he drink in a
week?

(a) 14 (b) 16 (c) 21 (d) 28
30.1L=

(a) 10L (b) 2000ml

(c) 100kg (d) 100ml

31. Make it simple

12-10+2

(@) 7 (b) 8 ()9 (d)2

32. Make it simple

20-8+4

(@) 7 (b)18 (c)5 (d)2

33. Choose the correct answer

Dividing 13 by 2 leaves the quotient

(@0 (b) 1 (c) 2 (d)3
34. Sabuj caught 24 fish in 4 friendlies.
Divided equally, everyone took fish.

(@) 0 (b) 1 (c)6 (d)3

35. How many 5 rupee notes will be given
instead of 20 rupees?

(@) 5 (b) 1 (c)2 (d) 4
36. A rubber costs 80 paise. How many 20
paisa coins will you need to buy it?

(a) 2 (b)1 (c)3 (d)4

37. Hemwati needs 100 rupees to buy
books. He has 40 rupees. How much
money will he need to buy books?

(a) 60 (b) 41 (c)52 (d)63
38. Make it simple

10+15+5

(a) 10 (b) 13
39. Make it simple
64+8+8

(a) 0 (b) 1 (c)2 (d)3
40. Make it simple
12x8x2

(a) 200 (b) 192

41. Choose the oddman out

a) Belgium. b) Austria

42. Choose the oddman out

a) Kanpur b) Kanchipuram
c) Ghaziabad d) Ludhiana
43, LPG:ORH::QSU:?

a) TUv b) LOS

44, ECGK : VXTP :: HKIF : ?

a) KDGH b) SPRUc) UPTXd) WTQO

45. Which of the following words cannot be formed
by use the word INTERDEPENDENCE

a) INTEND b) DEPEND c) CANERL  d) PENCE
46. Which of the following words cannot be formed
by use the word - 'EFFICIENT'

a) EFFACE b) FEINT c) FENCE d) NICE

47. Put the current option in place of question

(c)20 (d)23

(c) 204 (d) 213

c¢) Japan d) Norway

c) MOU d) SPR

a)11,8b) 11, 36 c)9,36 d) 8,9
48. Put the current option in place of question
mark.

£37 7 8

|51 6 4 ?
10] 11 17
b) 7 c) 11




49.9, 16, 25, 36, 49, ?
a) 63 b)64 )65 d) 66

50.8, 27, 64, 125, ?

a) 211 b) 212 c)214 d) 216
51.SAD =24 then BIRD =?

a) 32 b)33 )26 d) 36

52. If SCHOOL = VFKRRO, PEN = SHQ then BOOK =?
a) ERRN b) ERON c) EORN d) EMRN

53. Select the missing number from the given
responses.

50 | 32 14
25 &
9 6
18 24
a)49 b)50 «¢)35 d) 23

54.Select the missing number from the given
responses.

A

a)l8 b) 20 c)10 d)22
55.Arrange the following in ascending order.

1. XX1 2. XXX 3. XCV 4. XV 5. XIX

a)4,2,1,3,5 b)1,2,4,3,5 ¢)5,4,3,2,1 d)4,
51,23

56.Select the alternative which is related to the given
set : (4, 282, 5)

a) (3, 405, 6) b) (7,152, 3)

c) (2, 84,4) d) (5, 25, 1)
57.b_e_dk__cem _kkbc_m _kk
a)c,m,k,b,c,cd b)c,k,m,b,d, e, d
cc, k kb, d, e d, dc,mk,b,d, e d
58.Select the missing number from the given
responses.

15 30 20
6 8
&4 152

a) 400 b) 100  ¢) 150 d) 625
59.13 102320 ?
a) 23 b) 9 ¢) 33 d) 10

60.Select the missing picture from the given
responces.

Answer Figures :

YANIVANIPAN VALY

(a) (b) ()
61. Which group of blood is called universal
donor?
(a)o (b)AB (c)A (d) B
62. What is the filament of electric bulb made of?
(a)Carbon (b) Tungsten
(c)Hydrozen (d) Oxizen
63. How many bones in the body of an adult
man?
(a)206 (b)205 (c)204 (d) 203
64. What is the name of the highest mountain in
India?
(a)K2 (b)Goldwyn ostin
(c) Kanchenjunga (d) Biharinath
65. What is the name of the strongest part of the
human body?
(a) Tooth enamel (b)stomach
(c) ear (d) eye
66. Who is known as the Father of the Indian
Constitution?
(a)Ballavbhai Patel (b)Mahatma Gandhi
(c) Dr. B.R. Ambedkar (d)Jawahar lal neheru
67. Which is the national flower of India?
(a)Marigold (b)Lavender
(c)Rose (d) lotus
68. Which is the longest bone of the human
body?
(a) stapes (b) incus
(c) Femur (d) malleus
69. When is World Environment Day celebrated?
(a) 5th June. (b)6th June
(c)7th June (d)8th June
70. Who is referred to as the “Nightingale of
India” ?
(a)Indiara Gandhi (b)Asha Bhosle




(c)Lata Mangeshkar (d) Sarojini Naidu

71. Which substance is the hardest on Earth?
(a) Diamond (b)oxyzen

(c)amonia (d)phosphorous

72. Who was the first person to land on the
moon?

(a) Pete Conrad (b) Neil Armstrong

(c) Harrison Schmitt (d) Edwin Aldrin

73. What is the largest moon of Saturn
named_

(a)Star (b) Titan (c)Titanic (d)Moon

74. What is the biggest part of the brain called____
(a) Medulla (b) Thalamus

(c) Frontal lobe (d) Cerebrum

75. Which country was the first to start using
paper money?

(a) China (b)India (c)Bhutan (d)England

76. Which is the smallest continent in the world?
(a)Asia (b)Africa

(c) Australia (d)North America

77. Who was the first to invent the computer?
(a)galilio (b)jonathan

(c)madam courie  (d) Charles Babbage.

78. In which country was Chess originated?
(a)AUSTRALIA (b)NEPAL

(c) India. (d)CHINA

79. Which is the national tree of India?
(a)Orange tree (b)Mango tree

(c) Banyan tree (d)Banana Tree

80. Who was the first Prime Minister of India?
(a)Ballavbhai Patel (b)B.R.Ambedkar

(c) Jawaharlal Nehru (d)Mahatma Gandhi




